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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 6th Semester Examination, 2021

ECOACORI14T-EcoNnoMmics (CC14)

INTERNATIONAL ECONOMICS

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z TN Q"Y/VW fac T
Candidates should answer in their own words AT TS ST ITET NN I
and adhere to the word limit as practicable. es PRE

I. Answer any five questions from the following: 2x5=10

ftorie -l 2iofe avs Teq wies
(a) Differentiate between internal and international trade.
SreEdl @ Seeios qficers e 2N & 9
(b) How does the idea of comparative advantage differs from that of absolute advantage?
QS R ©F @ 5w FfRHE ©red W 2Ny [ o
(c) Mention two characteristics of trade indifference curve.
ity faeer® @ qio @HiE SrEe el
(d) Distinguish between nominal and real exchange rates.
W[ ¢ eipe R Q@R Wy 21w 9
(e) Distinguish between Balance of Trade and Balance of Payment.
ey SR 8 FETEm SRR 2N & 9
(f) What is factor intensity reversal?
T [RielR (9] FIE ¢ 9
(g) Mention two non-tariff barriers of free trade.
& Afdced #itd 4o w=q+ I Sra FEh
(h) What is Metzler Paradox?
(S FOIOM FICF AT 2

2. Answer any four questions from the following: 5x4 =20
fasfeie @-ie orE elvs T nes
(a) Explain the concept of “effective rate of protection”.
FRFFR IR 2 IeI00 F @I 7 FC
(b) How can you derive the elasticity of the offer curve of a country?
I (T “offer curve’ @3 s iFel Fei e 4 ¢
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(c) State and explain the basic assumptions of the Hecksher-Ohlin theory.
(ARl Ogive STRIeIR PR G|

(d) Justify the statement “ Balance of payment always balances”.
feferiie Sfefba i e - “Hesiios @ 7w Aol AT |

(¢) What is meant by Leontief Paradox? Suggest any one explanation of this paradox.

fereafbgz Fore FwIe F @RIT ¢ 92 Foremba @RIl G (6 G e

(f) What is meant by optimum tariff? Derive the formula of optimum tariff.

I SIS F Q9 600 & @RI 9 I il wiwa @it e s

Answer any two questions from the following:
fasfeie @-ie 76 aesa Ted wies

(a) (i) Show that gains from international trade can be decomposed into two
components — gains from exchange and gains from production specialization.

@dle @ e Jlfe-are 1o o o It I - [fersite @e ¢
T ReSisgersias «ie |

(i1) Show a situation where entire gains from trade is due to specialization.

G ¢ w77 [RFe FE @IE Hweites Afereaire 7= e vy Tesime
R Rieeel @31 i 201

(b) Analyse the possibility of factor price equalization (a) without factor intensity
reversal, (b) with factor intensity reversal.

@QW@WWWWWWWWW - () TeAmed i
Redroy 3ol SPfEs, () Refoyel SaifEs)

(c) Write a short note on foreign trade multiplier with repercussion.
YEEfod IR Ie SEH @fFFce Sewifes il wdi@a Sor wEwd B @l

(d) Analyse the partial equilibrium effect of an import quota. When will the effects of
tariff and quota be equivalent?

Tiesies qifdcey smifed siffmde fEer oriFe wRfos e aei wiEsa
T Smife ofsidere et 3k S @ FTEe U9 958 T 9

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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